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Note: There are three sections of the paper, A, B & C, Attempt Section ~ A on the same paper and return it to the
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Time: 20 Mins Saection “AY

Q.1 Write the comect option i.e, A, B, C or D in the empty box provided opposite to each part, No marks will be

awarded for cutling, erasing or over wriling.

‘Marks: 20

b 2+Z=0thenzis........... .
A. Real ' B. Imaginary C.1 D.9
. Thex+ iyformof (1-34)"is ..........
AL,3, B._1_ 3, . C3_3 D. 1,3,
10 10 - : 10 10 10010 3
fil. »p -6 ("p) thenn=......0..... )
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Vil g =2 1 = o thenxm
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A0 : B.3 C. -3 D13
viil. Geometric Means between the numbers ./5_ 4 A5 Al
A 4 B -1 (. Does notexist  D. %3
ix. The general term of the sequence -1, 1,-1, 1, ... -
A 1y B. (-1)" C. ¢ D. -n
X, ned ne} = . ’
C.I + q T s A trearaaan
a4+l . ne2 ' ned D. 1
A. C'v B. q . C. q
xi. Solution of the inequality x - 5>0 is............... , '
AR . , B.x25 C.ix>5 D.x<5
xil. “28in*pr2y=............ : 2
: A. Cosp B. 1-Cosp C.1-+Cosp D. Cos” fii2
xill. The graph of an odd function is symmetric about .............. ~ o
A. X-axis B. Y-axis C. Ori gin D, Liney=x
xiv. 1f 0 Is in 3" Quadrant then &/2 will be in ............... "
A. 1* Quadrant B. 2™ Quadrant C. 3¢ Juadrant D. 4™ Quadrant
xv.  IfMyis a minar of an entry ayof a square matrix A, then th e Cofacter Ay = ...........,
ACIM, B M, C) M, DM,
xl. Thevalue ©yiry + 10 + faty = oo, . o
A R? B. g% C. A2 D. Does not exist
xil. Sin"(112)=........ 5
A | :B. % C. % . Z‘.:_.
xviii. - Which one of the following function Is Odd. "
Ay=xi+2 - C By=2x+6x° C.y=S8in x Doy=(x+1)
x:x. b__:—. __a 2.._—_0_ l_ : ----------------- :
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Section "g». , ‘ Mafks: 50
Q.2 Attempt any TEN parts. Alt parts carry equal marks. . -
: . o
Separate real and Imaginary parts of complex number [ % __—_%_: ) :
C - +3i
i :
Solve forx, |} 0 He.g
x 1 x|
2 3 41

il. Find the projaction of the vector a = | — 2§ + k on the vectoy b = 4i - 4] + 7k.
iv. Find the sum of all the numbers divisible by 5 from 25 through 350.

v. Sumtheseries. 1.5.9+2.6.10+3.7.11+ ...... ton. terms,

Vi Eind the value of n. 1t0t)__ 12(n)

(n—-5) (n-a)

vil. If x is nearly equal to unity then show that px? —gx? =(p 1 ¢)x**

If two dice are rolled. - Find the probability of obtaining a total of 7 or 11, |

viii.
iX. Prove that cos3a (1-2sin@) = cos3x — (sinda ~ sin2a)

X. thzt‘is the vertex angle of an isosceles triangle whose equal sides are 13 ft long. Ifthe area is
50 ft°. -

xl. Write Cos (sin'x) as an algebralc expression.
xil. Minimize f{x y) = 3x + 4y subject to the constraints 2x +{3y 26, x+y<8, x20, y20
xii. Find the point of intersection of the functlons graphically f(x) =3x-2, g(x)=-x+86

‘Section“C" . | Marks: 30
" Note: Attempt any THREE quéstlons. All questions carry equal marks.
Q.3 a.if x* and higher power are neglected then show that (1+x)""* + (1-%"=a-bx’ Alsofindaandb.

-4 ! 0
| =4 l
0 1 A

b. Find the value of A if A is singular
. A=

Q.4 g, Determine whether the function. HOE xJx?+3 is even, odd or neither.
b. Show that Tar ' x+Tan' L =% '

s ateat, 7 vy ma i o]

b. Solve the quadratic equation 222 + 15 = 4z

. Q.6 a. Forthe vectors: a= 3i +'2IE, b=i+2j+k ¢=-j+4k Verifythat a.b xc=c.axb
' aml + buil
a" +b"
where a and b are not zero simuitaneously.

b. For what value of n, is the Geometric Mean between a and b,



